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[Mitochondria

Mitochondria turn food into fuel and fuel
into energy. Mitochondria are called the
“Power House” of the cells since almost all
energy the body uses is created in these mighty
bacteria. We should think of mitochondria as
engines since they create power by converting
ADP to ATP using O2 and Hydrogen and elec-
trons (H,0) from the foods we eat. Combining
these with Oxygen creates ATP and molecules of
low deuterium water in the inner matrix.

Mitochondria control nucleus DNA. Energy
decline in mitochondria causes parts of the
genome to be shut off (survival mode). The
human body does not desire to be perfect, it
desires to survive.

There are over 37 trillion cells in the body, each
containing mitochondria. Muscle Cells: at rest
require 1 unit of energy and 1 unit of oxygen
(800-1,000 mitochondria per cell). Heart Cells:
require 2 units of energy or 2 units of oxygen
(2,000 mitochondria per cell). Brain Cells:
require 10 units of energy and 10 units of
oxygen per cell (5,000 mitochondria per cell).
The brain uses 20% of the oxygen and 20% of
the energy created by the body.

inner mitochondrial matrix

Kreb's
Cycle

outer membrane

Nano Motors: Basic calculations
show that every 4.5 seconds a nano
motor is destroyed, which, estimates
indicate, completely destroys a mito-
chondria every 75 minutes. Losing
mitochondria in our cells causes
severe energy loss and eventually cell
death.

Mitochondrial Inner Membrane:
The 4 tails make this membrane
much tighter than the double phos-
pholipid membrane of the cell.

nano motors
1,500 per mitochondrion

inner membrane
cardio lipin

Chemical and metal toxins create
oxidative damage, causing the cell
membrane to become rigid and stiff.
The loss of fluid cell membrane can
cause low oxygen and toxic metabo-
lites to build up, lowering cell energy
and function.

Water: Gallons of water are made in
the mitochondria daily.
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Electron Transport Chain

4 electrons combine with
oxygen and 4 hydrogen creating
2 molecules of water
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etal muscle cannot use lactic acid so it is moved to the
blood stream where the cardiac muscle cells or liver cells
convert it back into pyruvate using a special enzyme
called Lactate Dehydrogenase (LDH). The liver can also
convert the pyruvate into glucose and store it as glyco-
gen for future energy usage.

Electron Transport
Chain (ETC)

The electron transport chain is where, in normal aerobic
conditions, over 95% of the body's energy (ATP) is pro-
duced. NAD* (B,) carries H* (protons) and e- (electrons)
along with FAD (B,) carrying electrons to the ETC. The
movement of electrons from Complex 1 to Complex 4
creates an electrical current creating a magnetic field
allowing the H* hydrogens to be drawn into the inner
membrane space, creating a gradient of H*.

Complex 1

Complex 1 accepts 2 H* and 2e- from NADH + H*. These
electrons and hydrogens are loaded onto CoQ10 where
they are transported to Complex 3. CoQ10 travels
inside the inner membrane carrying the electrons creat-
ing a current and a magnetic field.

Complex 2

Complex 2 accepts 2 electrons from FADH,. Unlike Com-
plex 1, Complex 2 does not accept H* or transport H* to
the inner membrane. Complex 2 hands off 2H* and 2e-
to CoQ10 which transports them down the inner mem-
brane to Complex 3.

Complex 3

Complex 3 accepts these electrons from Complex 1 and
2 and transports them with the help of Cytochrome C to
complex 4, the final acceptor of the electrons. CoQ10
transports these H* and e- and works inside Complex 3
to help transport these electrons onto Cytochrome C.

Complex 4

Complex 4 is the final acceptor of electrons from Cyto-
chrome C. Using copper and iron metals as electron car-
riers, the electrons are transported across Complex 4
back to the inner matrix. Oxygen accepts these elec-
trons in the inner matrix along with 4H* to form 2 mole-
cules of water. A lack of oxygen to sweep these elec-
trons causes the electrons to stop flowing down the
ETC. If electrons are not flowing, H* do not move into
the inner membrane space, stopping ATP production.
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